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let num 5; let 5 = num;
console.log(num); console.log(num);
let num == 5; let num = 5;
console.log(num); console.log(num);
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®

let subjecti
let subject2

||§ﬁu ;

"EEE"

console.log(subject1);

®

let subject1 = "B¥";
subjectl == "EFE";

console.log(subject1);
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@

let subject1 = "E#",;
subject1 = "EFE";

console.log(subject1);

O)

let subject1 = "EFE";
subject1 = "E#",;

console.log(subject1);
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let num = 3; let num = 3;
num == num + 2; num == num * 2;
console.log(num); console.log(num);

® @

let num = 3; let num = 3;
num = num + 2; num = num * 2;
console.log(num); console.log(num);
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let num = 3; let num = 3;
num = num + 4; num = num / 4;
console.log(num); console.log(num);
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let num = 3; let num = 3;
num = num * 4; num = num - 4;
console.log(num); console.log(num);
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let numl = 2 let num1 = 2
let num2 = 3 let num2 = 3
let ans = ""; let ans = "";
if (numl * num2 == 5) { if (numl + num2 == 5) {
ans = "IEfg" ans = "IEf&"
b }
console.log(ans); console.log(ans);
® @
let numl = 2 let numl = 2
let num2 = 3 let num2 = 3
let ans = ""; let ans = "";
if (numl + num2 = 5) { if (numl * num2 = 5) {
ans = "IEfg" ans = "IEfg"
¥ ¥
console.log(ans); console.log(ans);
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let num = 3;

num = num + 2;
if (num == 6) {

num = num + 2;
H

console.log(num);

@ @
5 7
®
3

P.6



IO55 3V IENRE /.) J0%

B> 7 IVRERE (JavaScript LAJL1) TOOS=UTENRE

fRI=a7
COTOYSLERTLLBICHATN B EREERLAT L

let num = 8;
num = num / 2;
if (num > 4) {

num = 100;
¥

console.log(num);

100 4
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let num = 4;
let ans = 0;

for (1 = 0; 1 < num; 1i++) {
ans = ans + 1i;
¥

console.log(ans);

@ @
3 1
® @
6 10

P.8



IO55 3V IENRE /.> J0%

H 7 ILRGRE (JavaScript LAXJL1) TOIS=UTRNRE

fl =89
r15) LHAINBZTOYSLEBRLABIL

@ @

let ans = 5; let ans = 0;

for (1 = 0; 1 < ans; i++) { for (1 = 0; 1 < ans; i++) {
ans = ans + 1i; ans = ans + 1i;

¥ ¥

console.log(ans); console.log(ans);
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let ans = 5; let ans = 0;
for (1 =0; 1 < 5; i++) {
for (i = 0; 1 < 5; i++) { ans = ans + 1i;
ans = ans + i; }
} console.log(ans);

console.log(ans);
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let num = 8;

let ans = 0;

for (1 = 5; 1 < num; 1i++) {
ans = ans + 1;
¥

console.log(ans);
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let numl = 2; let numl = 2;

let num2 = 3; let num2 = 3;

let num3; let num3;

num3 = numl * num2; numl + num2 = num3;
console.log(num3); console.log(num3);

let numl = 2; let numl = 2;

let num2 = 3; let num2 = 3;

let num3; let num3;

num3 = numl + num2; numl * num2 = num3;
console.log(num3); console.log(num3);
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let num = 5; let num = 5;

if (num > 0) { if (num < 0) {
console.log("IEf&"); console.log("IEf&");

¥ ¥

let num = 5; let num = 5;

if (num > 5) { if (num < 5) {
console.log("IEf"); console.log("IEfE");

¥ ¥
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let ans = 0; let ans = 0;
for (let num = 6; num < 6; num++) { for (let num = 0; num < 3; num++) {
if (num < 3) { if (num > 3) {
ans = ans + num, ans = ans + num,
¥ }
} ¥
console.log(ans); console.log(ans);

® @

let ans = 0; let ans = 0;
for (let num = 0; num < 6; num++) { for (let num = 0; num < 6; num++) {
if (num > 0) { if (num > 3) {
ans = ans + num; ans = ans + num;
¥ ¥
¥ ¥
console.log(ans); console.log(ans);
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let num = 4; let num = 4;

num = num / 1; num = num / 1;
num = num * 3; num = num + 3;
console.log(num); console.log(num);
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let num = 4; let num = 4;

num = num - 1; num = num - 1;
num = num * 3; num = num + 3;
console.log(num); console.log(num);
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let numtl = 1; let num1 = 1;
let num2 = 2; let num2 = 2;
console.log(numl - num2); console.log(numl + num2);
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let num = 0; let num = 0;

if (num == 0) { if (num 0) {
console.log("IEf&"); console.log("IEf&");

¥ ¥
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let subject1 = "FASSZU5"; let subject1 = FAFS=4;
console.log(subject1); console.log(subject1);
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let ans = 0;
for (let 1 = 0; i < 4; i++) {

ans = ans + 1,

¥

console.log(ans);
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for (let 1 = 0; 1 < 3; i++) {
console.log(i);

}
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1 0
2 1
3 2
® @
0 0

0 1
0 2
3
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let

num
num
num

num;

3.
2;
1;
console.log(num);
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let num = 5;

console.log(num);
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let num = 3;

num = num * 2;
console.log(num);
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let numl = 2
let num2 = 3
let ans = "";

if (numl + num2 == 5) {
ans = "IEf&"
¥

console.log(ans);
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let subjectl = "BE#";
subject1 = "EHFE";

console.log(subject1);
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let num = 3;

num = num * 4;
console.log(num);
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5
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let ans = 5; 18

for (i = 0; 1 < 5; i++) {
ans = ans + i;

}

console.log(ans);
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IE R IR A% ® IE IR A% ®
let numl = 2; let num = 5;
let num2 = 3;
let num3; if (num > 0) {
console.log("IEf&");

num3 = numl + num2; ¥
console.log(num3);
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let ans = 0; let num = 4;
for (let num = 0; num < 6; num++) { num = num - 1;
if (num > 3) { num = num * 3;
ans = ans + num; console.log(num);
¥
¥

console.log(ans);
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let numl = 1; let num = 0;
let num2 = 2;
if (num == 0) {
console.log(numl + num2); console.log("IEf");
¥
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let subjectl = "FO&F3=4™; O

console.log(subject1);
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